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1. Introduction

The new functionality “Service Based Inter System Handover” has been proposed in a CR [2] in the last R3#16 meeting and it was agreed to have further detail explanation of some normal and abnormal cases, the explanation shall be provided by the original contributor. The explanation should include: 1) How to handle multi RABs when each RABs have different setting? 2) How to set the measurement list when establish the Radio Bearer on RRC.

This contribution also raises some other concerns, which may have to be clarified again even though they have no necessity to specify in the specification or have been discussed in the last meeting. 

It is thought that whatever new functionality is newly introduced, a clear and unambiguous description should be shown. This can be shown in either specification or in normal contribution, if it has no necessity to be specified. This is in order to keep something in record so that it is easier for people to check further without any non-evident guessing and have an unambiguous functionality. This is one of the purposes of this contribution. 

2. Discussion

The following chapters discuss things need to be clarified and the potential issues to be solved when introducing the service-based handover.

Things need to be clarified:

· What is the level of “SHOULD NOT” and “SHALL NOT” in this service based handover?

· What are the services mentioned? Services both for CS and PS domain?

· How to set measurement cell list when the second RAB has different order ordered by the CN

Potential issue to be solved:

· Handling of multiple RABs which have different setting of “Service Handover”
· Handling of interaction between procedures

2.1 Things need to be clarified

This section tries to make things clear before introducing this new functionality into the RANAP.

2.1.1 what is the level of “SHOULD NOT” and “SHALL NOT”
According to the 25.810[1], the “shall not” and ”should not” are defined. SHOULD NOT is “it is recommended that” or “ought to”. SHALL NOT is “is to”, “is required to”, “it is required that”, “has to”, “only … is permitted” or “it is necessary”.

Based on the definition of 25.810, it is clear that “Handover to GSM should not be performed ” means it is not recommended to perform the handover to GSM, but not necessary required or prohibited. The “Handover to GSM shall not be performed” means it is not allowed to perform the handover to GSM.

It is thought that it has to be clarified how does the RNC perform when it is “should not” but the RAB may be drop if it is not handover to other system?

2.1.2 what are the services

Since the CR [2] proposed the name of the IE is “Service Handover”, it has to be clarified whether it is “standard service” or “non-standard service”? 

Can we call 128kbps a “services”?  Is test-call a “service”?

2.2 Potential issues to be solved
Some potential issues are show in below sections.

2.2.1 Handling of multiple RABs which have different setting of “Service Handover”
Suppose the service handover for a RAB ordered by the CS domain is “Handover to GSM should be performed”, and the service handover for the other RAB ordered by the PS domain is “Handover to GSM should not be performed”, since they are at the same level, it may be up to the RNC to decide whether to perform the handover to the GSM or not. But how does the RNC decide?

For the case of the two RABs are from the same domain, the above problem can be avoid by that setting the same value in the service handover in the domain which requested the two RABs. However, it has a question how does the CN domain decide to do if the first RAB, which has been in communication state is “should” and the second RAB, which is about to be established, has to be “shall not”?  Since the handover is performed for the UE based, both RABs shall be either “should” or “shall not” in this case. Do we need to specify to modify this service-based handover by using the RAB Assignment procedure for the existing RAB? Or it is up to the RNC to decide.

2.2.2 Handling of interaction between procedures
Current RANAP define the interaction between RAB Assignment and the Relocation Preparation procedure. In the case where chapter 8.2.4 of RANAP version 3.3.0 has specified, assuming that the RAB have different setting value of the “service handover”, say, RAB1 which is going to handover to the GSM has “Handover to GSM should be performed” and RAB2 which is in the middle of the RAB assignment procedure has “Handover to GSM shall not be performed”. Further, assuming the RAB2 has already been established but not yet report to the CN. This kind of interaction should be carefully specified in order not to have error inside the RANAP. One solution may be that the RNC terminates the RAB2 and execute the handover of RAB1 to the GSM since RAB2 has not started the communication yet.

3. Measurement list setting
In the last meeting, it is NEC who had a concern related to the measurement list setting. The current measurement in the RRC is daftly described below. 

The GSM cell list may be set in the Inter-system measurement IE of MEASUREMENT CONTROL message, which is sent from the UTRAN to the UE. Inside the Inter-system measurement IE, whether the GSM or IS2000 cell information is set, it includes cell ID and information related to the cells of other system. The criteria that the UTRAN set, for example is Event 3a(Event 3a: The estimated quality of the currently used UTRAN frequency is below a certain threshold and the estimated quality of the other system is above a certain threshold) and other threshold. When the estimated quality currently used is below “threshold own system” and hysteresis and time to trigger conditions are fulfilled and the estimated quality of the other system is above the value of the IE " Threshold other system" and the hysteresis and time to trigger conditions are fulfilled, the UE shall sent a report. The report contains specific information for other system.

Also, the UTRAN can whether to modify or release the previous setting measurement information to UE at any time.

This concern that had been raised by NEC in the last meeting is can be explained by giving an example. For example, a RAB1 has been in communication state (say Cell-DCH state) and it has been ordered by the CN “Handover to GSM should be performed”. Presuming the RNC has set the GSM cell list in the MEASUREMENT CONTROL message for this RAB1. In this situation, if RAB2 which is “Handover to GSM shall not be performed” is request by the CN, presuming it is up to the RNC to decide if two RABs have different setting of the Service-based Handover, how does the RNC change the GSM cell list that had been set previously for the RAB1? 

As described above, there is functionality to release or to modify the previous measurement setting, the RNC can change the measurement setting at any time, therefore there is no issue remains in this measurement setting. 

In case the RNC will not modify the measurement information, there is a Report Interval IE in the Inter-system measurement reporting criteria IE in the MEASUREMENT CONTROL message, the RNC can set a value to avoid the UE send MEASUREMENT REPORT frequently in the case the RNC is ordered not to HO the UE to the GSM system.

4. Proposal

It is proposed to clarify the items described in this contribution before introducing the Service-based Handover to the RANAP.

[1] 21.801 Specification drafting rule v4.0.0

[2] R3-002605 "Service based inter-system handover” Source: Ericsson 

[3] 25.331 version 3.4.1 RRC

ANNEX

This Annex shows the definition of “Shall not” and “should not” that is defined in 25.810.

FROM HERE quoted from 25.810 [1]

The verbal forms shown in table E.1 shall be used to indicate requirements strictly to be followed in order to conform to the standard and from which no deviation is permitted.

Table E.1: Requirement

	Verbal form
	Equivalent expressions for use in exceptional cases

(see sub clause 6.1.1.3)

	Shall
	is to

is required to

it is required that

has to

only ... is permitted

it is necessary

	shall not
	is not allowed [permitted] [acceptable] [permissible]

is required to be not

is required that ... be not

is not to be

	Do not use "must" as an alternative for "shall". (This will avoid any confusion between the requirements of a standard and external statutory obligations).

Do not use "may not" instead "shall not" to express a prohibition.

To express a direct instruction, for example referring to steps to be taken in a test method, use the imperative mood in English (e.g. "switch on the recorder").


The verbal forms shown in table E.2 shall be used to indicate that among several possibilities one is recommended as particularly suitable, without mentioning or excluding others, or that a certain course of action is preferred but not necessarily required, or that (in the negative form) a certain possibility or course of action is deprecated but not prohibited.

Table E.2: Recommendation

	Verbal form
	Equivalent expressions for use in exceptional cases

(see sub clause 6.1.1.3)

	Should
	it is recommended that

ought to

	should not
	it is not recommended that

ought not to


TO HERE

